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Horizontal projection fitting for each hole.
Red -- gaussian

Blue -- gaussian+background(linear)
Sieve Plane: H Projection-on-Row
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Difference of H Projection Mean with Real Sieve Position

(IT]IY\) Top left cell in range: 0,0 Range: i _____J
f«f Table Dol © ICol 1 ICol 2 ICol 3 ICol 4 DCol 5 ICol B
IRow 0O 0,00 0,00 0,00 0,00 0, 00 0,00 0, 00
IRow 1 0,00 -0,67 0,10 0,65 0,55 0,54 0,00
IRow 2 0,00 -0,23 0,07 (.50 0,03 0,23 0,00
IRow 3 0,00 -0, 33 -0,15 —-0,30 -0, 33 0,51 0,00
IRow 4 0,00 -0.6 0,08 0,3 -0,12 0,05 0,00
IRow 5 0,00 ~01, 00 0,03 -0,24 01,06 0,55 0,00
IRow B 0,00 0,00 0,00 0, 00 0,00 0, 0 0,00

Sigma (mm)

Top left cell in range:

0.0 Range:

fxf Table DCal O DCaol 1 DCaol 2 DCaol 3 DCol 4 DCaol & DCol &
DRow 0 0,00 0,00 0,00 0,00 0,00 0,00 0, 00
DRow 1 0,00 .63 1.23 0,36 1.14 0,56 0,00
DRow 2 0,00 1.74 1.24 1.64 1.6& 1.73 0,00
DRow 3 0,00 1.57 1.6 2,18 1.26 3.16 0,00
DRow 4 0,00 1.58 2,04 1.23 1.60 1.30 0,00
DRow & 0,00 1.54 1.44 2,03 1.5 1,34 0,00
DRow & 0,00 0,00 0,00 0,00 0,00 0,00 0,00
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Vertical projection fitting for each hole.

Red -

- gaussian

Blue -- gaussian+background(linear)
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Difference of V Projection Mean with Real Sieve Position

([1][]]) Top left cell in range: 0,0 Range: Fal _____J

fxf Table ICal O DCcl 1 DCal 2 ICal 3 DCcl 4 ICal & DCol B
DRow o 0,00 0, 0 0,00 0,00 0, 0 0, 00 0, 00
DRow 1 (0,00 —2,03 -3.74 -1.24 -1.:24 -1.43 0,00
DRow 2 0,00 -0,21 0,04 1.01 1.67 1.45 0, 00
DRow 3 (0,00 -1.88 -0, 64 0,00 -i.,43 0,45 0,00
DRow 4 0,00 -2,05 —-0,52 -1.595 -1.63 -1.61 0, 00
DRow & 0,00 0,07 0,20 0,65 0,88 2,21 0, 00
IRow B (0, 00 0,00 ALY 0, 0 £, 0] (0, ) 0,00

Sigma (mm)

fx7 Table ICal O ICal 1 ICel 2 ICol 3 ICol 4 ICal & ICol B
IRow 0 0, ) 0, ) 0, 0 0, ) 0, 0 0, ) (0,00
IRow 1 0, () 4,81 2,97 5,33 2,04 —2,71 (0, (i)
IRow 2 (0, ) 4,02 -4,B3 3,16 3,41 0,17 (0, i)
IRow 2 0, 00 3.16 -4,40 2,35 3,12 3,50 0,00
IRow 4 (0, ) 3,30 b.E3 5,13 4,74 3,89 (0, i)
IRow 5 0, () 3,00 7.B3 -4,15 3,98 4 ,BR (0, (i)
IRow E (0, ) 0, 00 0, i) 0, 00 0, i) (0, ) (0, i)
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